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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-II
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
FARM MACHINERY AND POWER
(AGENGG-211)

Time : 2 Hours
Section-I :10

Maximum Marks : 70
Section—-11: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
gaueg - |
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square

given against each sub-question. (10x0.5=5)
W& ST I gL IR WA | JN2 W3 A 4 TIF I9-WA ® A A ™ o A fafEw)
(i)  The part of tractor which is used to mix air and fuel is ? _ D
(1) Fuel Tank
(2) Fuel Pump

(3) Sediment Bowl
(4) Carburetor.
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(i) Which fuel has higest calorific value? B ]

(1) Diesel

(2) Petrol

(3) Carosien

(4) Light Diesel oil.
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(iii) What is the value of disc angle in disc plough?
(1) 15-25°
(2) 30-35°
(3) 42-45°
4) 12°
fo wa § fowr w1 w1 AW fFen g 82
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(iv) In Power Stroke

(1) Inlet valve remain open
(2) Exhaust valve remain open
(3) Both valve remain open
(4) Both valve remain closed.
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(v)  Frog is the part of
(1) M.B. Plough
(2) Disc Plough
(3) Harrow
(4) Cultivator.
Wi 9 g ®
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(vi) Fuel Injection pump is essential in
(1) Diesel Engine
(2) Petrol Engine
(3) Air Cooled Engine
(4) All the above.
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(vii) In LC. Engines, the temperature produced during power stroke is about
(1) 1600°C
(2) 1600°F
(3) 600°C
(4) 600°F.
v % ® WA LC. 399 F a9HH I9H o #
(1) 1600 feit Aftwma

(viii) The unit of engine power is
(1) Watt
(2) Newton-m
(3) HP
(4) All the above.
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(ix) Which harrow is also called 'Bakhar'?
(1) Disc Harrow
(2) Spike tooth Harrow
(3) Spring tooth Harrow
(4) Blade Harrow.
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The useful life of seed drill is

(1) 15000 Working Hours

(2) 10 years

(3) 12 years

(4) 15 years.

IEfE § MR | W fEw # Iw wd
(1) 15000 ®r w2

(2) 10 §&

3) 12 ¥4

(4) 15 €=l

2. Fill in the blanks : | (10x0.5=5)
fma i #1 9fd FIfE -

(i) One healthy man produced ... h.p
ST L T R—— sva wiE SO Fa 8
(ii) Inlet valve open after ..., degree
TR S —— foft 3 ag gom ?
(iti) Piston pin is also KNOWR 88 ...cccmminiminnnsniiiisninn
R o §t we1 W R
(iv) Crawler tractor is also KnOWN 85 ...
DR I Y i ™ q f 9 2
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(vi) An cooled engines generally suitable fOr .........ccoovemieecierercmessscsssssssssns engine.
T R BV F AN T WA: SUTH O & ooooeieeeeeesessoseesesessssssssssssseese
T % fom)

(V) SR DD o i siinssiiasssisnisios measured in.
W W e Y urdt Wt 2

(viii) Cylinders are usually made Of ............ccceivrrrerrernsermnsesaensnns
e T W ¥

BN - I e e is the rate of doing work.
............................................. FH A F R Fear 2
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-1I
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
FARM MACHINERY AND POWER
(AGENGG-211)

SECTION - 11
auE - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules. :

The question paper containing the Subjective part can be taken by the candidates alongwith them.
fwares W (W99 &3 3, 4, 5, 6 T 7) B W & T sw-yfaw § famd §) sw-ghaw
T g0 WE-T P # AR waEs N FawaeR @ & s
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3. Define the following : (5%1=5)
frafafas =1 sftafim S .

(1) Fuel Lift Pump.
A faw )

(ii) Tilt Angle.
fese =

(iii) Radiator.

g
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(iv) Theoretical field capacity.

Azifas & wwa

(v) Thermostate Valve.

R g d|

4. Differentiate the following : (2x3.5=7)

frafafaa o s Fifse .

(i)  2-Stroke and 4-Stroke cycle Engine.

feurda vd =geida = g

(i) Cultivation and Harrow.

FeER TE AN

S. Write short notes/comment/justify the following : (2x6=12)

frefafaa #t e & frof/av/smen #if .

(i)  Give specific note on "Mechanization in Agriculture”.

ey | 'y g’ w5 fengds aamE

(i) Explain Forced feed Correlation/cooling System.

Foga IREE gonet Fi faaRgds awwmEn

6. Explain any two of the following three questions in 1-1%2 pages. (2x8=16)

Frafafea @ wval 5 @ sl O 3 3w 1-1% T § s

()  Determine the horse power required to pull a 4 bottom 32 cm plough, Working to depth
of 14 cm. The tractor is operating at a speed of 5.5 kmph. The soil resistance is 0.8 kg/
km?.

14 Tft Ft W qF FEH FE TS 4 929 32 99, 7@ F) Gt B o smAvew wf
mmvﬂ%ﬁaﬁmﬁ7wﬁ§mmmmﬁﬁnﬁmsﬁrﬁuﬁmﬁl
wE g iy 0.8 fEm w2 #

10/000/(1,360)/C-465 10




USRI GIRIGHBININ

(i) Explain power transmission system of 1.C. Engine with red sketch.
T&F HA<ReT T99 =1 VIR SRR YoTel 1 afed Fvie w1

(iii) Write the name of Hitching implements? Explain any one.
fefem 7= =1 m fod? fFt & == =1 o vl =R

7. Explain/describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
. frefafan 77 vl & @ fFelff & @ sW 23 Y F S

(i)  Calculate the area covered per day of 8 hours by a tractor drawn 4 bottom 35 cm plough.
If the speed of the ploughing is 5 kmph, the hours lost in turning is 10%.
TH B G oW T W 4 W w6 35 A W R, 4 ) o S ol g
T 5 fE @ owfa w2 T R § 10% THe TR T #)

(i) Explain steps of seed drill calibration.
iz fga #1 99 ™ w fagar auemE

. (i) Explain fuel supply system in tractor with neat sketch.
o H T W vEf w1 @ faw a e e
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